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Betrothed; she is stoned - N7 17990 N2 01N

Overview

PrYY 12 7am1 20 answered that the P109 of TwIR XY 9w (which indicates that if she
was WX there is no 01p), should be read 701X X7 WK (that she is not an 7101IX when
it happened), thereby removing the question on X2°py '". The X 1) asks, in a case
where she is an 7017, obviously there is no 01p, since the DiX» is N 217; we do
not require the P109 of 701X R? WK to infer that there is no 01 by an 701K, Our
Moo clarifies the s'%M3 question on *"'217.

n1voIN asks:
= 1MYNYUNN NP 7993 XY RNWD NN 19 NOUP INND 99NN ON)

And if you will say; what difficulty does the X723 have with s""217 answer, since

now the ?02 is not removed from its simple meaning -
= 31391 NIV N7 291 RNT 19V Y5 217991)D TI90KIN KD IN)

And if the difficulty is that the P05 is not required :7°213%, so on the contrary that
is even better, for the w''tx is more acceptable since it is ‘vacant’ —

nBoIN answers:
= N NDYPO NI NN VIV 1INT PN 13929 9IN)

And the >''9 says that this is the explanation; the X713 asks, by an 7919R, there is

stoning’, so obviously there can be no 017 -
- NP2 NTIIN NI TUR ANINY 19 NN MY APV NIX ¥NY TIVLN NIT 1179

So since 701X XY WX is not required for anything, except for the '3, the 770

should have written, 770198 8% 2wN', explicitly -
= MI8YY NDIIN NN 91991999 2¥0NY NIINT NDIIN XY 9UN 2AN919Y 2IY INNAN)

So why was it changed to be written 7078 X? "wX, where we can make a mistake

and assume that if she was 7978 (and 7w"3n1), the 01p will belong to her, not to her
father —

nvoIN clarifies:

! The (main) question on ¥"1 was that he is 7"Mynwnn Xp% P90, however the way *"211 reads the P00 that X? WX
701K, this retains the X7 7°vWd (one is liable for a 77115 but not for an 701R).
2 Without the 109 of 701X X% WK, we would know that she cannot be an ;77017¥, for then there would be no 01p, on
account of n"2%p, so she must be a ;7°1>.
3 The optimum w"13 is when the words used are superfluous (or vacant — 719W), for then we cannot refute the w"m; the
fact that 701X X7 WX is not necessary (see footnote # 2) aids in making the w"13 one that is 71917!
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= 4YWHN NPVYY N9 999V NN NN YITN DIV NDIIN 1IN N NPbWaT
For it could be justified to write 107X X? WX, if there would be some novelty by

'moY9R', then it would be plausible why he changed the syntax from 707X to 701X -
= RUYTINY 45009 RN 7Y N991D WY NOIIN AN NIYT IND 19299NYT

For then we can say the reason that he changed and wrote 7189 (instead of 7017X)
is in order to expound the 2'13, and the simple meaning (77017X) comes for the

novelty -
299 MY XNNYN YaN

But now that there is no novelty in 7017&, why do we need the change to 7oMx.’

Summary
The s'®n3 question is that since there is (seemingly) no ¥17°1 in 701X X7, the 770

should have explicitly written (both 1 and 2°n2), 701X X7 WK (not 707K KY).

Thinking it over

According to mo01n the crux of the question on °"217 is that since there is no V17’1
by 7017 &7, the 7170 should have written 7017R, but not 770X, However in the X773
there is no mention of this; the X3 merely asks, '8 79°P0 N2 n01XR'; according to
MooIn the X773 should have clarified its question!

41f the 7110 would have written 7017 for some w171, we would not be able to utilize 7017& X2 WK for a W', since it
is not 7191, for it is required for this w17m.
5 This change makes it 191,
¢ The simple reading (the »p, which is 1017X) teaches us this ‘w171,
7 The Xm3 answers that there is indeed a w1717 in 701X XY.
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